
S. No. Question Choice 1 Choice 2 Choice 3 Choice 4 Correct Choice

1 Which of the following is the limitation of the algorithmic model?
Efficiency Data dependency Flexibility Accuracy 2

2 Which of the following language is used for faster 

computation and operations in the algorithmic 

model?

Java Structured Query Language (SQL)Python Visual Basic 1

3 What does the given image signify? Model evaluation benefits Model evaluation metrics Model evaluation processModel evaluation limitations 2

4 Which of the following is the limitation of the autonomous system?Increased productivity Improved accuracy and qualityInitial high 

implementation costs

Enhanced efficiency 3

5 Identify the challenge in parallel programming in 

which some data will be stored in memory that is 

closer to a particular process.

Concurrency
 Data distribution 
Communication Load balancing 2

6 Which of the following tool is used to detect syntax errors in the code?Code testing tool Code formatting tool Code analysis tool Code documentation tool 3

7 Which of the following is the correct way to 

optimize the usage of electricity at the workplace?

Use inefficient air conditioning unitsAvoid installing solar panels Use the power saving 

mode and turn off 

unused devices

Enhance the number of fixtures 3

8 Which of the following is the correct way to improve 

internal communication at the workplace?

Prioritize team-building engagementsDiscourage idea sharing among employees
Establish irregular processesLimit cross-departmental interactions1

9 Identify the correct sequence of steps for optimizing 

code performance.

1. Apply the 80/20 rule

2. Use built-in or standard libraries

3. Choose the right data structures and algorithms

4. Follow coding best practices

5. Identify the bottlenecks

5 > 1 > 3 > 2 > 4 3 > 5 > 1 > 4 > 2 1 > 4 > 5 > 2 > 3 2 > 5 > 4 > 3 > 1 1

10 Why do you need approval for the optimized code? To ensure that everyone 

involved is on the 

different page

To spend time and 

resources in the long run

To enhance the risk of 

errors going unnoticed

To ensure that the final 

model meets the 

necessary standards

4

11 You notice that a lot of e-waste has been deposited 

in your cabin, and you want to dispose of it. Which 

colour wastebin will you use in such a scenario? 

Purple Green Blue Black 4

12 Read the comprehension and answer the question 

below:

Improving the recruiting process involves crafting 

By considering current candidates onlyBy limiting passive candidatesBy building talent pipelinesBy avoiding candidate experience3

13 Which of the following is a 'Do's' for interview etiquette?Interrupt the interviewer Dress professionally Negative body language Answer vague 

questions

2

14 Which among the following should be your moral 

responsibility to fulfill the constitutional values as an 

entrepreneur?

To make sure that human 

resources are utilized 

maximum

To develop the business 

with minimal damage to 

the environment

To make sure that the 

margin of profit earned 

is always minimum

To spend excessively 

on indirect costs at 

various levels

2

15 Which of the following is the most appropriate 

sentence to write in the body of an email declining 

an event invitation?

I regret to inform you that 

I will not be able to 

attend.

I am unable to attend as I 

have other plans.

I can't attend, I have 

other work to do.

 I'm out. 1


